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General Instructions :

@)
(i)

(iii)

All questions are compulsory.

The question paper consists of 34 questions divided into four sections —A,
B, Cand D. |

Section A contains 8 questions of 1 mark each, which are multiple choice
type questions, Section B contains 6 questions of 2 marks each, Section C
contains 10 questions of 3 marks each and Section D contains

10 questions of 4 marks each.

(iv)

Use of calculators is not permitted.

e A
SECTION A

J97 G&IT 1 @8 TF Jcd% Y97 1 3% F7 & | J97 T&IT 1@ 8 § Y% Y97 & [o7¢ =R

faskey

few 13 &, 74 & a7 T T8l & | @E %o giAT |

Question numbers 1 to 8 carry 1 mark each. For each of the question numbers

1 to 8,
Select

1.

30/1/1

four alternative choices have been provided, of which only one is correct.
the correct choice.

k % 98 uM, foes fore fgema gl x% - 2kx + 5k = 0 % qa 99 €, &

(A) FaAO0
B) HIAS5
© 0,5
D) 0,6

The values of k for which the quadratic equation x? — 2kx + 5k = 0 has
equal roots, are

(A) Oonly
(B) 5only
w) - 0,5
dr)y: 0,6
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aMpfd 1 #, AR £ AOD = 135° %, @ £ BOC %1 T SR 3

A D
135°
B C
ST 1
(A)  52-5°
(B) 45°
€) - 62:5°
®) 25°

In figure 1, if £ AOD = 135°, then £ BOC is equal to

135°
B C
Figure 1

(A)=:52-5°
B 45°

(C) 62-5°
() ... 25°
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3. i 2 H, a@wcmmm%wmzﬁqﬁﬁmm%l

Z ACB U 2

A

B
SATHIT 2

(A) 60°
(B) 4b°
(© 120°
Dy - 90°

In figure 2, two circles touch each other at C and AB is a tangent to both
the circles. £ ACB is equal to

Figure 2
@A) 60°
B) 45°
©) 120°
D) 90°
30/1/1 4




4. 20 . 39 T W@ & R ¥ s MR F B =1 S3E-A, 39 9N $
e & FSHHF-HI9 & gE 2 | AR H F918 2

Aa) 204
B) 404
(C) 60
(D) 80H.

From the top of a cliff 20 m high, the angle of elevation of the top of a_
tower is found to be equal to the angle of depression of the foot of the
tower. The height of the tower is :

A 20m
B) 40m
() 60m
D) 80m

5. Ifc P(A) U =eAT A &t TiiRehar =t fAfés e 2, a1
(d) P@A)<0
B PQ>1
(© 0<P@A)<1

@) —~1<P@)<1

If P(A) denotes the probability of an event A, then
@4 PA<O0
B) PA>1
(C) 0- <PA)<1
D -1<PA)<1
30/1/1 5 | P3O.:




6. U I, FrEH 1 8 40 7 3ifeka ferd B, § 7 ageaan ws feshe feren mm |
38 gt T8 e W sifeha d@n % 7 &1 U g9 Y wifrekar @

@ =
® <
©
®

One ticket is drawn at random from a bag containing tickets numbered 1

to 40. The probability that the selected ticket has a number which is a

multiple of 7 is
@ =z

®

© 3

®

30/1/1 6




7. aﬁﬁgcg,zl)%@aﬁmzs)amma 1) H e 3t T@rEve & 2:3 %

9T | afear 8, @ k %1 A9 ?
(A) 16
® 2
© =
(D) —g-

If the point C(k, 4) divides the join of points A(2, 6) and B(5, 1) in the
ratio 2: 3, then the value of k is

@) 16
® 2
© 2
® 3

"'-'.—'.8. 2 Ml 5 JE SFGAI § 16: 9 T UM 8 | T JAH § I 2

A 64:27

(B) “16:9

By 4:3

®) -16°:9°

The surface areas of two spheres are in the ratio 16 : 9. The ratio of their
volumes is =

(A). 64:27

@) 16:9

(C)"=4:3

@) 16*:9°

30/1/1 4 P.EO.
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SECTION B

Jo7 GEIT9 G 14 TF TAH oA & 2 JF 8 |
Question numbers 9 to 14 carry 2 marks each.

9. k& 98 A9 YHTcHS HH Fq shifog formeh it x2 + kx + 16 =0 &
Rt I 8l |
Find the least positive value of k for which x2+kx+16=0 has real roots.
10, IR G 2n -1, 3n + 2 9T 6n - 1 GHIR @ § &, @ n H °H I
#$if, 37 gt wd HIT |

If the numbers 2n -1, 3n+2 and 6n -1 arein A.P., find n and hence
find the numbers.

11. ¥ Pfd 3 H, I PQ=PR 3, @ auisy % QM =MR? |
5 _

Q M R
STFHIT 3

In figure 3, if PQ = PR, show that QM = MR.

30/1/1 8




12. 3R 4 H, PA qe PBﬁomﬁw%wmﬁgPﬁ@m@%ﬁnﬁ
2 wqst W@d & | I £ PBA=65° B, @ £ OAB F1d shifSiT |

STTFHIT 4

In figure 4, PA and PB are two tangents from an external point P to a
circle with centre O. If Z PBA = 65°, find £ OAB.

Figure 4

13. 52 Udl sl TH = THR ¥ Hl TS Q9 hi TS A § Tk g1 (Aehren T |
TifreRar i HIT f6 77 9= (1) &t T B G Sren 991 8@ (i) A T 6
~ STEE B/ |

A card is drawn from a well shuffled pack of 52 cards. Find the
probability of getting (i) a red face card (ii) a black king. 2

14. TH T TH AR @d & Th HH W 14 . @a 0 § ot g 2 | Il @@
# fqurd 20 . x 15 . &, @ WA F 3T WO FH &ABA WA PG T&l T8

M & = Gkl | [n———-'c'ﬁﬁﬂl]

A cow is tied with a rope of length 14 m at one corner of a rectangular
field of dimensions 20 m x 15 m. Find the area of the field in which the

cow cannot graze. [Usen = 27?_]

30/1/1 | 9 - P.T.O.




@ us |
SECTION C

Y9 GEIT 158 24 TF JAF JoH F 3 IF & /

Question numbers 15 to 24 carry 3 marks each.

15.

T Ig iR # g9 TEW W Fed 99 =i @ 1§ ¥ TE@d e e A
T il HEEdl Sl g | 39 SR A @ 94 Fftea wmw @
30 fime @1e 39 wfgen & @y @ = =@ | 1500 forft i g W e 3
T W EHT W TgeH o [OTT, 39 0 A id | 250 TRz, sifuss i
T & T IS | §ETE FETS <hl HE T {1 HIT |

An old lady while boarding a plane got hurt and the captain immediately
called for the medical aid. Thus the plane left with the lady, 30 minutes
later than the scheduled time. Then in order to reach its destination
1500 km away in time, it has to increase its speed by 250 km/hr from its

~ usual speed. Find the usual speed of the plane.

16.

17.

18.

30/1/1

Th TR Ik JUW fF WS H GhA 48 B | AfC TR UH qER Wl
A%, dE 98 & IR T & 12 e 7, a1 FHia 3¢ 19 i |

The sum of the first three terms of an A.P. is 48. If the product of the first
and second terms exceeds four times the third term by 12, find the A.P.

2 T qu 5 Ff Brewed A @ T gu difvw | 9@ 39 W % fag
TARY, GER T T Tk T 1@ g G | T T T i s ot wie |

Draw two concentric circles of radii 2 cm and 5 cm. Taking a point on
outer circle, construct the pair of tangents to the other. Also, measure the
length of a tangent.

T HHR & et & 9 F feEft fog w0 ssma-sm 30° @1 R | Afg HEw i
S8 W i T R fen S, @ 3 faeg W HER o ReR @1 I A
T |

The angle of elevation of the top of a tower at a point on the ground is
30°. If the height of the tower is tripled, find the angle of elevation of the

top at the same point.

10




19. AR A(-3, 5), B(- 1, 1) a4 C(3, 3) Th A ABC & 3§ &, ot mifedsst AD it
werg i i | 39 forg % Fdwe oft @ I St AD &1 2: 1 % 3@
§ dfedr 2 |
If A(- 3, 5), B(-1, 1) and C(3, 3) are the vertices of a triangle ABC, find

the length of median AD. Also find the co-ordinates of the point which
divides AD in the ratio 2 : 1.

20. 3R o5 C(- 2, 3), fogati A(3, - 1) @ B(x, 8) ¥ GHGWEY &, dl x &l HH Hd
IR | BC a1 AB i giaf i §ia hifSg |

If C(-2, 3) is equidistant from A(3, — 1) and B(x, 8), find x. Also find the
distances BC and AB.

21. U gia A, Rt B 42 &l 3, % o= ° o wWeR B ABC #
BISH Y W H T ASh! g Fo Testrsd s e, e 6 smmepfa 5 4 gt
T R | SRl i fEAET g @ MU & % wHEua § YIaH i 6 v
WWIW%EE?@G%‘Q'Q%HWWWWI

[V3 = 1-73 @ sr:-—— &ifs

On a circular table cover of radius 42 cm, a design is formed by a girl
leaving an equilateral triangle ABC in the middle as shown in figure 5. It
was decided that the payment to the girl be made proportional to the
covered area of the d951gn Find the covered area of the design.

[Use V3 =178 and n= 7]

Figure 5
30/1/1 %1 P.T.O.




22.

23.

24.

30/1/1

40 Fft F=g R 18 Tft W A U I Ao F A 3 S=n i e A
AT TH FATHR @i H1e form s 2 IﬁH@aHWﬁ‘{B‘M SERTS IR
HINT | [n = 3-14 7Y

From a solid cylinder whose height is 40 cm and diameter 18 cm, a
conical cavity of the same height and same diameter is hollowed out. Find

the total surface area of the remaining solid. [Use n = 3-14]

T TR WETEe AT 22 H. x 20 H. F 9ad I A W 3Hg §C A b
Ul Wl T SRR U W $ohg ! 8, [orEeh YR 1 | 2 Wi, 7 a9
Fa1g 3.5 Wi, 8 991 39 U B U9 gRT Ul < gET SRt | STl ST 8 difeh
ol TS 3UHT T W T | R o9y e w9 & 9 @ 98 doFeR U

T T | ¥ & g et @ A | [(n= 22 e

A housing society used to collect rain water from the roof of its building
22 m X 20 m to a cylindrical vessel having diameter of base 2 m and

height 3-5 m and then pump this water into the main water tank so that
all members can use it. On a particular day the rain water collected from
the roof just filled the cylindrical vessel. Then find the rainfall in cm.

= 22
[Usen = = ]

ABCD T% WWeid % SR H &% & | AD || BC, £ ABC = 90° 3R
ZADC=60°% | A, B, C ¥ D Hl g oo IR Hear@ve s T S foh
a6 & fegrmn w2 | s Hrewwrs & s 14 . R

5 _ @A

s,

©
)
115

STTFHIT 6
ﬁﬁﬁmﬁﬁt{:
() O GeIEvEl w1 9 8% |
(i) 9 W H LB, YT & 6 AD = 55 #Hi., BC = 45 H, 3R
AB=30H. |

12




ABCD is a field in the shape of a trapezium. AD || BC, £ ABC = 90° and

£ ADC = 60°. Four sectors are formed with centres A, B, C and D as
shown in figure 6. The radius of each sector is 14 m.

- A
60°7 N

/%
we)

C

Figure 6
Find the following :
1) Total area of the four sectors.

(i1)  Area of the remaining portion, given that AD = 55 m, BC=45m
and AB =30 m.

|Ug T
SECTION D

Y97 &1 25 H 34 T A% JH H 4 HF & |
Question numbers 25 to 34 carry 4 marks each.

25. p % 98 YAICHS U FId hifgT e fow affesor x2 + 2px + 64 = 0 a9
x? - 8x + 2p = 0, QI % ARATIH A & |

Determine the positive values of p for which the equation
x2+2px + 64 =0 and x%— 8x + 2p =0 will both have real roots.

26. Fo famnfei 3 s | IH &I T 9 | FRIT | S8 A F FA T9
T 1,440 91 | 15 § 398 9 8 fomnfel™di & S & w1 T foe g ofwt Ooft
FA AW, AT w1 F MfdF ¥ ¥ U 7w vw fomnef§ K Fw & F
e, 3 foma v faenefi <t fusfaes @ = 391 @ T 30 51§ ™ | -
() Toraa fermeff fesfaes w g 2 '

Gi) 6= T FA fha A A T 2

38 T | -1 o guItEn TR 2
30/1/1 13 - PHED,




Some students planned a picnic. The total budget for hiring a bus was
¥ 1,440. Later on, eight of these refused to go and instead paid their total
share of money towards the fee of one economically weaker student of
their class, and thus, the cost for each member, who went for picnic,
increased by ¥ 30. '

(i) How many students attended the picnic ?

(1i1)) How much money in total was paid towards the fee ?

Which value is reflected in this question ?

27.  GHIR I —i,-1,—§, 4% &+ T 9L YE T IR I iU |

3
Find the sum of the two middle most terms of the A.P.
e TR T
3 3 3

28. fhg HifS o forelt smar fog @ 9@ W &fi=h 78 wost Twisti i damEal sus
Bl & |
Prove that the lengths of tangents drawn from an external point to a
circle are equal.

29. 3 U GBS % T g H 4-8 HHI Tl T ST PQ B | P AAT Q W ¥ {@d
TR T fag T W wfiesg =l 2, Jo & empla 7 § fo@mr mn 2 |
TP 1 T3 Hd HIfT |

30/1/1 14




PQ is a chord of length 4-8 cm of a circle of radius 3 cm. The tangents at P
and Q intersect at a point T as shown in figure 7. Find the length of TP.

Figure 7

30. U WHR % UTg fog & U e % @t 1 S-S 30° R IR HaH F UG
foag & #MR & Rat &1 IF-HI0 60° 7 | Ffe #HR 60 H. FH= &, df o=
1 S8 F1a HIT |

The angle of elevation of the top of a building from the foot of the tower is
30° and the angle of elevation of the top of the tower from the foot of the
building is 60°. If the tower is 60 m high, find the height of the building.

31, R H, 50 M FNRBE, 215 o RDFE, T 2% = S
3R T 5 % g ek § | A Ol o @1 e 3o 1 W FiE & e
TR o 9o aasIRies &, a1 $8eh! 1 STReal @ T 98 fu gan fea
@ T1% fmram?

Gi) T 5 T & g 2
(i) 5098 1 AT T 2 1 famr B 2

A piggy bank contains hundred 50 p coins, seventy ¥ 1 coins, fifty ¥ 2
coins and thirty ¥ 5 coins. If it is equally likely that one of the coins will

fall out when the bank is turned upside down, what is the probability
that the coin :

@ will be a ¥ 1 coin ?
(i) willnotbea T 5 coin?

(1) willbea50pora ¥ 2coin ?
30/1/1 15 P.T.O.




32.

33.

34.

30/1/1

A(6, 1), B(8, 2) @1 C(9, 4) Tk THIaT wg¥s ABCD & o= ¥ € | afe
E 4T DC %1 79 fog B, 1 A ADE %1 &9%a J1d HifT |

A(6, 1), B(8, 2) and C(9, 4) are three vertices of a parallelogram ABCD. If
E is the mid-point of DC, find the area of the A ADE.

T I I T 5 HHI & a1 R I h &l IU-GUET o SFABE! T A [T
HIfE, Fafh 39 a1 gRT g9 % Heg W &= ST 90° Fl § |
[n = 3-14 i

Find the difference of the areas of two segments of a circle formed by a
chord of length 5 cm subtending an angle of 90° at the centre.

[Use m=3-14]

g1q & o o1, 75 fFIR 3: 4 : 5 % ouTa § €, I e T Srehet B
o seen w1, fSrEe fawmol 1243 @t & | T =91 % R 39 hifsw |

Three cubes of a metal whose edges are in the ratio 8 : 4 : 5 are melted
and converted into a single cube whose diagonal is 12+/3 cm. Find the

edges of the three cubes.
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